

"qa
88-240 zelibx zeil`ivpxt
 ze`eeyn6-5 milibxz:ze`ad ze`eeynd ly illkd oexztd z` `vn .1

2y′′ − 5y′ + 2y = 0

y′′ − 4y′ + 5y = 0

9y′′ + 6y′ + y = 0

y′′ − 2y′ + 2y = 0

9y′′ − 12y′ + 4y = 0:mipezpd dlgzdd ii`pz mr ze`ad ze`eeynd z` xezt .2
9y′′ − 3y′ − 2y = 0 y(0) = 3, y′(0) = 1

y′′ − 2
√

5y′ + 5y = 0 y(0) = 0, y′(0) = 3

y′′ −
√

2y′ + y = 0 y(0) =
√

2, y′(0) = 0:ze`ad ze`eeynd ly illkd oexztd z` `vn .3
y′′ − 6y′ + 25y = 2 sin x + 3 cosx

y′′ − 6y′ + 8y = 3x2 + 2x + 1

y′′ + 2y′ = 2 + e−x

y′′ − 9y′ + 20y = x2e4x:mipezpd dlgzdd ii`pz mr ze`ad ze`eeynd z` xezt .4
y′′ − 4y′ + 3y = e5x y(0) = 3, y′(0) = 9

y′′ − 8y′ + 16y = e4x y(0) = 0, y′(0) = 1

y′′ + y = cos 3x y

(

π

2

)

= 4, y′

(

π

2

)

= 1

2y′′ − y′ = 1 y(0) = 0, y′(0) = 1:ze`ad zeivwpetd z` miqt`nd mireaw min
wn mr mil`ivpxt
 mixehxte` `vn .5
x2ex+1

3e2x cos 2x

x(2x + 1) sin x

3 + 4x − 2e−2x



:ze`ad ze`eeynd ly illkd oexztd z` `vn .6
y(5) − 10y′′′ + 9y′ = 0

y′′′ − y′′ − y′ + y = 0

y(5) − 6y(4) + 9y′′′ = 0

y(4) + 2y′′ + y = 0:ze`ad ze`eeynd ly ihxt oexzt `vn .7
y′′′ + 3y′′ − y′ − 3y = x2 + 1

y′′′ + 3y′′ − y′ − 3y = e2x

y′′′ + 3y′′ − y′ − 3y = sin x

y′′′ + 3y′′ − y′ − 3y = xexd`eeynd ly illkd oexztd z` `vn (`) .8
y′′ + Ω2y = F cos Ωx.Ω > 0 ,mireaw md Ω, F xy`kd`eeynd ly illkd oexztd z` `vn (a)

y′′ + 2ky′ + Ω2y = F cos Ωx.ohw iaeig xtqn `ed k -e ,Ω > 0 ,mireaw md Ω, F xy`kly k → 0 xy`k leabd aeyig i
i lr ` sirq ly daeyzd z` lawl ozipy gked (b).a sirq ly daeyzd!dglvda


